PARTS LIST / LISTE DES PIECES / LISTA DE PIEZAS
ITEM NO./NO D'ARTICLE./ARTICULONO: DS-8632-400

DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: UPHOLSTERED BED BENCH WITH NAILHEAD TRIM / BANC RECOUVERT / BANCO TAPIZADO

rf
i

N

@ @

x1 Chair Seat x4 Leg *
x1 Siege de chaise x4 Patte
x1 Asiento desilla x4 Pata

B _ )
© ©)

x8 Allen bolt (M8 x 50mm) * x8 Spring Washer M8 * x8 Flat Washer M8 * x1 Allen Wrench M5 *
x8 Vis a tete creuse hexagonale (M8 x 50mm) x8 Rondelle a ressort M8 x8 Rondelle Plate M8 x1 Clé Hexagonale M5
x8 Perno Allen (M8 x 50mm) x8 Arandela auto-bloqueante M8 x8 Arandela Plana M8 x1 Llave Allen M5
*Replaceable Part
Page 1 of 3/ Page 1 sur 3/ Pagina 1 de 3 Residential Use Only Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

For assembly instruction video, please go to: www.myfurnitureinstructions.com



ASSEMBLY INSTRUCTIONS/ NOTICE DE MONTAGE/ INSTRUCCIONES DE MONTAJE

ITEM NO./NO D'ARTICLE./ARTICULONO: DS-8632-400

DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: UPHOLSTERED BED BENCH WITH NAILHEAD TRIM / BANC RECOUVERT / BANCO TAPIZADO

Hardware and Legs are located in seat bottom.

La quincaillerie et les patte sont situés dans le bas du siége.

Elhardwarey las patas se encuentran en la parte inferior del asiento.

Residential Use Only Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

Page 2 of 3/ Page 2 sur 3/ Pagina 2 de 3
For assembly instruction video, please go to: www.myfurnitureinstructions.com



REPLACEABLE PART / PARTIE REMPLACABLE / PARTE REEMPLAZABLE
ITEM NO./NO D'ARTICLE./ARTICULONO: DS-8632-400

DESCRIPTION/ LA DESCRIPTION/ DESCRIPCION: UPHOLSTERED BED BENCH WITH NAILHEAD TRIM / BANC RECOUVERT / BANCO TAPIZADO

= —=)

x4 RDS8626400-LEG K

Leg

Patte

Pata

_QJ (e &
=2

x1 RDS8626400-HWKIT K x4 RC-WH-NAIL¥

Assembly Hardware Kit White Plastic Nail

Kit de matériel Clou

Kit de hardware Clavo

*Replaceable Part

Page 3 of 3 / Page 3 sur 3/ Pagina 3 de 3 Residential Use Only Made in Malaysia / Fabriqué au Malaisie / Hecho en Malasia

For assembly instruction video, please go to: www.myfurnitureinstructions.com



	Page 1
	Page 2
	Page 3

